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1) TRADE THEORY

Question No. 1/ Question ID 210 Marks: 2.00

Why universal uni-joint coupling is only suitable for remote manual operations?
e d gl-Slise HUTCHT had RATe HI3d TR & fore g Suged i g7
(A) O Provides a soft start

TP R YB3 YaH Rl §
(B) O Used to reduce the engine vibration (Chosen Option)

§O9 U B HH B & g ITINT {1 ST § (Chosen Option)
(C) O Used in pairs on cardan shafts

HIe AMIE R Siig A IUANT fbar oirdr g

(D) © Transmited low power is not smooth (Correct Alternative)

GENEGE RIS qd= i % (Correct Alternative)

Question No. 2 / Question ID 163 Marks: 2.00
What is the name of the fixture shown in the figure?

o o fezam T IusRr &1 A R 87




Global iTi

(A) O Modified angle plate fixture (Correct Alternative)
W W faR=R (Correct Alternative)

(B) O Indexing plate fixture
> ST wie flhaer

(C) O Plate fixture
wic flhaer

(D) O Angel plate fixture (Chosen Option)
U Wic R (Chosen Option)

Question No. 3/ Question ID 116 Marks: 2.00
Which ball bearings are used to accommodate slight misalignments of the shaft?

MYE & A FAFSraS-THe & TR A & [ I F dfd SR BT I9ART fasa oirar g2
(A) O Self allgnlng ball bearing (Correct Alternative)
G-I fad 97t S49fT (Correct Alternative)

(B) © Double row ball bearing

SERRIESEINERIR]
(C) O Ball bearing (Chosen Option)

CINERIR] (Chosen Option)
(D) O Plain bearing

RIECBIRY

Question No. 4 / Question ID 177 Marks: 2.00




Which type of belt is used if the distance between the shafts are too short?
I RMUE & & &1 g 9gd B 8, dl v UHR DI See BT IUANT favat SfTdl 82
(A) O V’ belt (Correct Alternative)
\VAC [ (Correct Alternative)
(B) O Ribbed belt
f¥eg dee

(C) O Link belt

(D) O Flat belt (Chosen Option)
ST (Chosen Option)

Question No. 5/ Question ID 288 Marks: 2.00
What chart shows a graphical representation of the activities performed during manufacturing?
®H A1 A At % SR fefed wfafafiat o1 mieea ufaffta fozarar 82
(A) O Process chart (Correct Alternative) (Chosen Option)
Eir (Correct Alternative) (Chosen Option)

(B) O Control chart

fedzor A
(C) O Barchart

IR A1C
(D) O Man-machine chart

Question No. 6 / Question ID 105 Marks: 2.00
Which bearing is used in the limited bearing space?
W foafer w3 forg foafr &1 o faar s g2
(A) O Needle bearing (Correct Alternative)

e faafe (Correct Alternative)
(B) O Angular contact ball bearing (Chosen Option)
@R HTeae aid [T (Chosen Option)
(C) O Thrust ball bearing
U §id feafa
(D) O Taper roller bearing
SR AR o

Question No. 7 / Question ID 200 Marks: 2.00
Which coupling prevents relative motion between two shafts?
DI T HUICHT & MU & S ATUE T DI Al 572
(A) O Safety coupling (Chosen Option)
7T (Chosen Option)
(B) O Rigid coupling (Correct Alternative)
[T (Correct Alternative)
(C) O Universal coupling
EL I

(D) O Clamp coupling
&g HUferT

Question No. 8 / Question ID 70 Marks: 2.00
What is the use of frosting operation?

THIRST HTIRR BT IUTNT T 82




(A) O To increase the oil retention on scraped surfaces (Correct Alternative)
ardt '\‘I?IB-T R dd UfdYrRor &1 Té'lef * ﬁl’E (Correct Alternative) GI Il I 'lll'
(B) O To decrease the oil retention on milled surfaces (Chosen Option) 0 a I I
i1 Tdsl W dd UidURY &1 HH B & [T (Chosen Option)
(C) O To decrease the oil retention on scraped surfaces
G aTal! Fdg! IR o UidHRl & HH H & g

(D) O To increase the oil retention on milled surfaces

firs Tagl W A9 UfdURY &1 g & forw

Question No. 9 / Question ID 34 Marks: 2.00
Which material protects slip gauge from rusting?
S I At 9 79 B S A 3§ F9 82
(A) O Kerosene (Chosen Option)
G| (Chosen Option)
(B) O Wax

(C)O Oil
aa

(D) O Petroleum jelly (Correct Alternative)
St (Correct Alternative)

Question No. 10 / Question ID 52 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame e @ Rifgd Wi &1 98 a1 82




(A) O Datum surface
STH WHY
B) O Helght of sllp gauge (Correct Alternative) (Chosen Option)
ﬁTg (Correct Alternative) (Chosen Option)
) O Length of sine bar
T34 IR B dalg
(D) O Taper angle
S

Question No. 11 / Question ID 287 Marks: 2.00
Which cutting oil is used in automatic lathes?
ffeifes deq H oI 1 ST Sfiad SXAAT fowar Sirar g2
(A) O Compounded (or) blended oil (Correct Alternative)
firfsa 1) wes dd (Correct Alternative)
(B) O Soluble oil
Ieged dd
(C) © Straight mineral oil (Chosen Option)
C aa (Chosen Option)

(D) O Fatty ail
CRIRCS]

Question No. 12 / Question ID 235 Marks: 2.00
V\ihich formula calculates the pressure?
P TN HIYAT IRR 1 0T HRT 872
(A) O Force + Area
Force + Area
(B) O Forcel/Area (Correct Alternative) (Chosen Option)
Force/Area (Correct Alternative) (Chosen Option)
(C) O Force - Area
Force - Area

(D) O Force x Area
Force x Area

Question No. 13 / Question ID 94 Marks: 2.00
What is the purpose of ring gauge?
1 I &1 R I B2
(A) O To check the shaft diameter (Correct Alternative)
TTHE AT B Sifd B & foIE (Correct Alternative)
(B) O To check the internal thread (Chosen Option)
TAR® IS P Wi HRA & T (Chosen Option)
(C) O To check the tapered shaft diameter
Tl R T H1 Siid H & g
(D) O To check the hole diameter
g1 I 1 S BT

Question No. 14 / Question ID 2 Marks: 2.00
What is the name of the key shown in the figure?

o & TS 715 o1 BT A R 8?2




Global iTi

(A) O Sunk key (Chosen Option)
I B (Chosen Option)
(B) O Flat saddle key

(C) O Feather key (Correct Alternative)
(Correct Alternative)
(D) O Hollow saddle key
Edl

Question No. 15/ Question ID 155 Marks: 2.00
What is the name of the pipe fitting symbol shown in the figure?

forr o feamy ¢ urgy fbfeT Uit o1 A ' 37

(A) O Plug
@

(B) O Elbow
Teslt

(C) O Socket (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)




D) O Ctoss

i Glohal iTi

Question No. 16 / Question ID 127 Marks: 2.00
Which metal powder is used in calorizing process to prevent corrosion?
ST &1 A & [ATT HARTS oI WishaT H ford T & UIex BT SUANT fodT il 672
(A) O Aluminium powder (Correct Alternative) (Chosen Option)
UI3 ST (Correct Alternative) (Chosen Option)
(B) © Chromium powder
Urds
(C) O Zinc powder
[SECIRST

(D) O Nickel powder

Urdsy

Question No. 17 / Question ID 103 Marks: 2.00
What is the name of the bearing shown in the figure?

fort & feame w7u feaf &1 9 1 82

(A) O Thrust bearing (Correct Alternative)
e foaf¥t (Correct Alternative)




(B) O Roller bearing (Chosen Option)

AR ST i —
©) O Bgll bearing(ChOSen oeten Glohal ITI
EIN

(D) O Journal bearing

Question No. 18 / Question ID 258 Marks: 2.00
What is the name of the pneumatic valve symbol shown in the figure?

2 & T2 74 9radiY dTed Udie &1 a1 19 82

(A) O Directional control valve (Correct Alternative)
a9 9169 (Correct Alternative)

(B) O Roller valve (Chosen Option)

IR dled (Chosen Option)
(C) O Flow control valve

YaTg =01 ared
(D) O Pressure valve

dled

Question No. 19 / Question ID 55 Marks: 2.00
Which process is carrled out with abrasive sticks to correct the profile of internal cylindrical surfaces?
TANE JATHR Tda! Bt MBI DI Tal B & o8 uaves STl & 1Y B It Ufehar o1 ofrdl 82
(A) O Honing (Correct Alternative)

[T (Correct Alternative)
(B) O Lapping (Chosen Option)

1T (Chosen Option)
(C) O Grinding

D) O FiIing.

Question No. 20 / Question ID 28 Marks: 2.00
Which file is used for silversmith's work?
ReaRHY & HTH & o ITIN & O dTel BIsd BT ¥ Jdigu|
(A) O Pillarfile
OeeR Hhrgd




(B) O Riffler file (Correct Alternative) (Chosen Option)
e WIgd (Correct Alternative) (Chosen Option)
(C) O Min saw file
o 9 wrsa
(D) O Warding file
ARV

Question No. 21 / Question ID 294 Marks: 2.00
What is the name of the document that shows the details of the job performed in a production shop?
I TIATAS BT ATH 1 § off ot ScTe g H T T i T fqaron g=iian g7
(A) O Cycle time card

qEfohd IHg Hls
(B) O Estimation card
3THH HTS
(C) O Job card (Correct Alternative) (Chosen Option)
Siig P18 (Correct Alternative) (Chosen Option)
(D) O Productivity card
SUTGH IS

Question No. 22 / Question ID 309 Marks: 2.00

What is the material of sling hooks?

%1 g% &1 IRl & 82

(A) O Medium carbon steel (Chosen Option)
HYH BTe SWIG (Chosen Option)

(B) O High tensile steel (Correct Alternative)
3o d4d1d HITd (Correct Alternative)

(C) O Low carbon steel
49 PreF 3wra

(D) O High carbon steel
3 PHIe- T

Question No. 23 / Question ID 65 Marks: 2.00
What is the purpose of drilled holes in sine bar?
T2 SR H 3 ford T2 € o1 I a1 82
(A) O To reduce the weight (Correct Alternative) (Chosen Option)
IO FH P & ﬁl'l'{ (Correct Alternative) (Chosen Option)
(B) O Clamping of slip gauges
g 71 T At
(C) O For aesthetic purposes
Hied yaeH! & forg
(D) O Clamping of dial test indicator
Sd X SfSPhex @i aalfti

Question No. 24 / Question ID 80 Marks: 2.00
What is the purpose of annealing?
THITCRT &7 I5T T 872
(A) O To refine the grain structure of the steel (Chosen Option)
D U AT B RB18 B & AU (Chosen Option)




(B) O To soften the steel (Correct Alternative)

W B RA B & ﬁ’l’E (Correct Alternative)
(C) O To add cutting ability

HTe DI &HdT SHe & g

(D) O To increase wear resistance

fere & ufcRly @ g & fog

Question No. 25/ Question ID 78 Marks: 2.00
Which structure of steel contain 0% carbon?
I & f5g =1 H 0% BT giar 872
(A) O Cementite

B) O Agstenite
(C) O Pearlite

(D) O Ferrite (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 26 / Question ID 292 Marks: 2.00
What is the term for that time during which the machine runs automatically without manual intervention?
3 JHT P T HBd g FoIID GRI TR 91 [ AR a8y o Waierd ©0 ¥ gadt 57
(A) O Over all cycle time

gl Teh THa R
(B) O Total cycle time
Dol dh JHY
(C) O Machine cycle time
geh dhI JHY
(D) O Auto cycle time (Correct Alternative) (Chosen Option)
el I 99 g (Correct Alternative) (Chosen Option)

Question No. 27 / Question ID 152 Marks: 2.00
What is the name of the pipe fitting item shown in the figure?

o & =TT U UIsy fOfeT Siiged &1 A/ 1 22




Global iTi

(A) O Short nipple
Blel Aud

(B) O Long nipple (Correct Alternative)
(Correct Alternative)
(C) O Connector (Chosen Option)
(Chosen Option)
(D) O Close nipple
IEEECACR

Question No. 28 / Question ID 31 Marks: 2.00

What is used for placing the instruments during working?
BT & GRM SUDHRUN DI G- & O18 fordepT SUART faa STl 82
(A) O Felt pad (Correct Alternative)

P Us (Correct Alternative)
(B) © Wooden blank (Chosen Option)

&I (Chosen Option)

(C) O Cloth

PUST
(D) O Steel sheet

Question No. 29 / Question ID 162 Marks: 2.00
What is the name of the jig shown in the figure?

et  fzarg wTw fomT b1 1 T B2




(A) O Sandwich jig
Hsfag fom

(B) O Postijig
e

(C) O Boxjig (Chosen Option)
Sl forT (Chosen Option)
(D) O Turn over jig (Correct Alternative)
o (Correct Alternative)

Global iTi

Question No. 30 / Question ID 217
What is the name of the gear mechanism shown in the figure?

fort & =iy 7MW iR oF &1 A\ w1 82

Marks: 2.00




(A) O Bevel gear
99d R

(B) © Worm and worm gear
I Ug 9 iR

(C) O Mitre gear
AR IR

(D) O Rack and pinion (Correct Alternative) (Chosen Option)
us fafra= (Correct Alternative) (Chosen Option)

Global iTi

Question No. 31 / Question ID 240
What is the name of the part marked as 'X' shown in the figure?

o # fezame X B ffgd HmT 1 AW T 82

Marks: 2.00




(A) O Reservoir
TSR

(B) O Double acting cylinder (Correct Alternative)
S99 UfFET RIds (Correct Alternative)

(C) O Two piston valve (Chosen Option)
gﬁlﬁaﬂ?d (Chosen Option)

(D) O Pump
Uy

Global iTi




Question No. 32 / Question ID 85
What is the tempering colour of taps and shear blades?
T 3R HARA KIS BT SR T BT BIal 672
(A) O Dark blue
TRRT el
(B) O Pale straw
RICES
(C) O Reddish
ol
(D) O Brown (Correct Alternative) (Chosen Option)
HIT (Correct Alternative) (Chosen Option)

Mk 302 80

Question No. 33 / Question ID 139
How pipes are classified?

72Ul BT aFffep_ur B farar ST g7
(A) O Shapes (Chosen Option)
(Chosen Option)

(B) O Uses
JUTRT

(C) O Colour
T
(D) O Material (Correct Alternative)
(Correct Alternative)

Marks: 2.00

Question No. 34 / Question ID 189
Where is universal coupling used?
il HUfeiTT &1 SUTNT Hg! [haT ST 872
A) O Automoblle vehicles (Correct Alternative)
CIEEE:] (Correct Alternative)
(B) O Textiles mills (Chosen Option)
FUs Fa A (Chosen Option)

(C) O Compressors
HURR

(D) O Pumps
Uy

Marks: 2.00

Question No. 35/ Question ID 303
Which lubricant property can withstand high pressure or load?
P I WED U1 I Ga1d AT HR BT FHAT R el 872
(A) O Viscosity (Correct Alternative)
QAT (Correct Alternative)
(B) O Fire point
HRR Wlgc
(C) O Flashpoint (Chosen Option)
TR WISE (Chosen Option)
(D) O OQiliness
GRIEG

Marks: 2.00




Question No. 36 / Question ID 4
What is the taper ratio of Gib head key way?
519 88 P 9 BT TR 3UTT &1 1T 52
(A) O 1:20 (Chosen Option)

1:20 (Chosen Option)
(B) O 1:100 (Correct Alternative)
1:100 (Correct Alternative)
(C) O 1:19
1:19
(D) O 1:50
1:50

Marks: 2.00

Question No. 37 / Question ID 216
Which gear runs more silently than a spur gear?
DI I IR TR R &t ga1 & siferes 2id asies § =aan 82
(A) O Worm and worm gear (Chosen Option)
g 3R gH iR (Chosen Option)
(B) O Mitre gear
fore R

(C) O Bevel gear
9 R

(D) O Helical gear (Correct Alternative)
(Correct Alternative)

Marks: 2.00

Question No. 38 / Question ID 254
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame T % @ fRfgd HmT 1 W R 82

Marks: 2.00




Global iTi

(A) O Disc
5559

(B) O Hinge pin
ot o

(C) O Stop plug (Correct Alternative) (Chosen Option)
¥CTT W (Correct Alternative) (Chosen Option)
(D) O Disc hinge nut
&% fg1-1e

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 336 Marks: 2.00
What is colour of a metal piece when heated to 250°C while doing the tempering process?

SR UfehaT a THT Ueh 4T & Cha Pl 250°C TR TH {31 ST §, Y I o1 & Ths &I T 1 gRIT?
(A) O Brown (Correct Alternative) (Chosen Option)

YT (Correct Alternative) (Chosen Option)
(B) O Pale

grer

(C) O Purple
CUEl

(D) O Blue
BN




Question No. 2 / Question ID 330 Marks: 2.00
Which line is called as chord?

DI U TS DT T DT Sl 872

(A) O OD
oD

(B) O AB (Correct Alternative)
AB (Correct Alternative)
(C)O ED
ED
(D) O OE (Chosen Option)
OE (Chosen Option)

Question No. 3 / Question ID 335 Marks: 2.00

What is the name of the structure formed, if a steel is heated for about 723°C?
I TG BT 11 F1 6, TG WId B 723°C TR TH a1 STl 67
(A) O Austenite (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(B) O Martensite




(C) O Ferrite

(D) O Cementide

Question No. 4 / Question ID 331
Which type of stress?

S I-91 gfaed g2

(A) O Compressive stress (Chosen Option)
e gfded (Chosen Option)
(B) O Torsional stress
ERERRCIRER
(C) O Shear stress (Correct Alternative)
IGELS] (Correct Alternative)

(D) O Tensile stress
GRICAIGEN]

Marks: 2.00

Question No. 5/ Question ID 323
Which symbol is used to denote co-efficient of friction?

YU & T[UTh &) AU B & o forg Ucltes &1 o fosan sirar 872

Marks: 2.00




(A) O M (Meu) (Correct Alternative) (Chosen Option)
M (Meu) (Correct Alternative) (Chosen Option)

(B) O B (Beta)
B (Beta)

(C) O a(Alpha)
a (Alpha)

(D) O y (Gamma)
y (Gamma)

Question No. 6 / Question ID 327 Marks: 2.00
Which one of the following geometrical shapes centre of gravity lies from its base is 1/3 of its height?
9 @ D 1 AT P BT TEATHYU 65 THD YR I YT &, THD! a1 1/3 82
(A) O Triangle (Correct Alternative)

ﬁ‘lj?rr (Correct Alternative)
(B) © Cone

[P
(C) O Square

S|

(D) © Rhombus (Chosen Option)
(Chosen Option)

3) ENGINEERING DRAWING

Question No. 1 / Question ID 353 Marks: 2.00
Pipe cutting die is generally
U3y Hle STs M IR R G|
(A) O divided in four parts.
IR U | fauTford
(B) O divided in three parts
GIGRNKIR:ACEIT )
(C) O divided in two parts (Correct Alternative) (Chosen Option)
Eﬁ YN # fgurfora (Correct Alternative) (Chosen Option)
(D) O undivided
AU

Question No. 2 / Question ID 342 Marks: 2.00
Rivets are generally, specified by .
fdecg amaR W gRI Ay fpuoma 71
(A) O length of rivet (Chosen Option)
&1 @dTs (Chosen Option)
(B) O diameter of head
88 B AN
(C) O nominal diameter (Correct Alternative)
AT SRTeR (Correct Alternative)
(D) O all of these
g gt

Question No. 3/ Question ID 363 Marks: 2.00
CPRF stands for
CPRF &1 Addd §




(A) O Combined Plain Round Foundation
Combined Plain Round Foundation

(B) O Connected Pile Round Foundation
Connected Pile Round Foundation

(C) O Combined Pile Raft Foundation. (Correct Alternative) (Chosen Option)
Combined Pile Raft Foundation. (Correct Alternative) (Chosen Option)

(D) O Corrosion Proof Raft Foundation
Corrosion Proof Raft Foundation

Question No. 4 / Question ID 344 Marks: 2.00
The thread angle of metric thread is
HRe dSiards  @ugl
(A) O 30°
30°
(B) O 900
90°
(C) O 120°
120°
(D) O 60° (Correct Alternative) (Chosen Option)
60° (Correct Alternative) (Chosen Option)
Question No. 5/ Question ID 348 Marks: 2.00

Identify the given rivet.

feu U fXde &) ugaH|




(A) O Pan head (Chosen Option)
bE| ) (Chosen Option)
(B) O Flat head
TIIC 88
(C) O Snap head (Correct Alternative)
g %3’ (Correct Alternative)
(D) O Counter sunk
PRI b

Question No. 6 / Question ID 341
Lock nut or check-nut is chamfered on____ .
dlep e g1 ddb--c Bl R THS gl ST g |
(A) O lower side
el R

Marks: 2.00




(B) O none sides
DIs W Tl
(C) O upper side (Chosen Option)
X% (Chosen Option)
(D) O both side (Correct Alternative)
d¥W® (Correct Alternative)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 564 Marks: 2.00
While working with a team, if we notice a co-worker struggling with their workload, what should we do?
?%ﬂﬂ%mummw, g gH Tl THH B 3(U- BT & d1g § S=Id U <9 d &, <) 84 1 Bl

?
(A) O Offer to help them with their tasks. (Correct Alternative) (Chosen Option)
I SI% Pl A Heg HI1 & ford STHT BT ATRT (Correct Alternative) (Chosen Option)
(B) O Report their struggles to the supervisor.
JIRATZOR DI I FgH! &1 RUIC A1 AMMBT
(C) O Ignore their struggles and focus on your own work.
3 TIN TR & A ¢ 3R 30+ B W &M disd BT gy

(D) O Laugh at their inability to manage their workload.

3T HRIUR B! Bl B3 H I Sgadfdl IR g1 91T

Question No. 2 / Question ID 481 Marks: 2.00
An illegal activity committed on the internet is called
geC R B T8 U IRGIHT TTafafer &b Hel Sdl §
(A) O search engine

g5

(B) O social networking

(C) O cyber crime (Correct Alternative) (Chosen Option)
IgAX PIgH (Correct Alternative) (Chosen Option)
(D) O virus
qraRy

Question No. 3 / Question ID 404 Marks: 2.00
While applying for a job, the covering letter should be easy to read by means of
ept & oY 3Mde B THY AT AR B D HIH J UgT 3H g1 =1ul
(A) O extra curricular activities. (Chosen Option)
Sifafad ureTaat geet nfafafd’ay (Chosen Option)
(B) O dividing the text into shorter paragraphs. (Correct Alternative)
TRE B Die-BI¢ WRMH! A fyuTo w1 (Correct Alternative)
(C) O increasing the font size.
BI< MHR TSI I
(D) O long descriptions.

Question No. 4 / Question ID 515 Marks: 2.00
What should you always remember when creating your profile on a job portal?
SI§ UICd WR (G- MHISd -1 THT SHTUHT AR T e G- d1gT?
(A) O To always be truthful (Correct Alternative) (Chosen Option)
T gl ?ITI%'Q (Correct Alternative) (Chosen Option)




(B) O To leave out important information

TAE@YUl STH&HRI & ST 1T
(C) O To include skills required for the job, even if you don't have them

THt & T AP DI I MM H=AT MY, U Bl d YD U gl 61|
(D) O To use a fake name

TH e ATH BT START HAT MG

Question No. 5/ Question ID 543 Marks: 2.00
Appropriate workplace etiquette
Sudd
(A) O talking loudly
Sl TaTS H ST Al
(B) O being late (Chosen Option)
&R HRAT (Chosen Option)
(C) O being punctual (Correct Alternative)
THY BT 9T 84T (Correct Alternative)
(D) O interrupting
YT STl

Question No. 6 / Question ID 615 Marks: 2.00
Why is it important to have a business plan before starting a business?
o F o34 9 Ugd foaeid @WH ST ) SRest 82
(A) O To show you are an entrepreneur
75 feam & fore i oo e Senht €
(B) O To get loan from bank
d& ¥ AF o & forg
(C) O Justatry
Y T BRI HA & ferg
(D) O To identify potential challenges with clear goal and risks (Correct Alternative) (Chosen
Option)

T &4 TG SRl & 1Y JUTfad gHifaal @1 ugar o1 & 1T (Correct Alternative)
(Chosen Option)

Question No. 7 / Question ID 512 Marks: 2.00
Why is it good to think about what you learn?
3T St Ve § 39 R R &A1 -t 3res1 82
(A) O It's a good time pass
Ig 33T TIH U™ §
(B) O All are doing
Tft HRWE e
(C) O It improves handwriting.
Y forarae # gUR giaT |
(D) O It helps to remember and understand better. (Correct Alternative) (Chosen Option)

Eﬂ'\ﬁ Te I@H 3R dER '\‘I’H%Ie[ o geg firerd %I (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 427 Marks: 2.00
If a teammate is struggling to complete their assigned task, what should you do?
gfe & o1 Pig A1t ST Feila &1 @1 e & Tud HR 3|1 8, Y 3TUeh! 1 631 T1fgu?
(A) O Offer to help and support them to complete their task (Correct Alternative) (Chosen Option)
3P RS Bl T AP 1%1'? 3% T 3R N SATHT BT T:IT%({ (Correct Alternative)




(Chosen Option)
(B) O Criticize them for not being efficient

PSR A GH b DRI D! AT B AT

(C) O Complain to the superior about their lack of contribution
TS B Bl & IR T UIRTR ¥ S A1 I

(D) O Ignore their struggle and focus on your own tasks

TN Dl ToR 3Tl P 3R 3T BT TR T bigd BT AT

Question No. 9 / Question ID 408 Marks: 2.00
What is formal communication?

BIHd HRBHRH FT 82
(A) O Casual chatting on social media
Hifgar R werd dfeT
(B) O All written communication (Chosen Option)
gt fafad mﬁ%&m (Chosen Option)
(C) O Official communication following a set of rules (Correct Alternative)
rami & Udh Y& q1¢ ST R T:F'Fg'ﬁ'%ﬂ:[ (Correct Alternative)
(D) O Talking with friends and family
GIR! 3R URAR & AT I BT

Question No. 10 / Question ID 454 Marks: 2.00
What does self-employment mean?
W-ATTR &1 1 31 g2
(A) O Working for a single employer
Tl TERR & 1T 1 el
(B) O Receiving a fixed monthly salary
Toh (A3 AT dc= YTt BT
(C) O Working part-time from home
TR Y UIE TI3H $HTH H=A1
(D) O Working independently and earning directly from your work (Correct Alternative) (Chosen
Optlon)

AT Y F B BT 3R WY 3 w1 I H"TFITs: HIAT (Correct Alternative) (Chosen
Option)

Question No. 11 / Question ID 366 Marks: 2.00
Campus recruitment is conducted at
P ydl  HemRa@iwdia |l
(A) O capital city of the state
I B S A
(B) O ITI (Correct Alternative)
ITI (Correct Alternative)
©)O on line

SIENIEE]

(D) O |n a company (Chosen Option)
| (Chosen Option)

Question No. 12 / Question ID 557 Marks: 2.00
Which of these situations show people working well together as a team?

0 9 oI O FRURT AN 1 T ¢TI0 & =0 H fae) 3iesT H1H & gy et 872




(A) O A group sharing ideas and listening to each other (Correct Alternative) (Chosen Option)
Udh dYg ol foaR TLAT hdT % 3R U g'\‘ﬁ' G| gAdT % (Correct Alternative) (D wsepQntinr)
(B) O All are working without discussing each other
1 Th-gR § T4 U o T e R G
(C) O One person doing all the work without any help from team members
UH Hfad S & Ja| & Ferdl & fo1 T+t SR # 38T §
(D) O Two people arguing and not agreeing

3 AT TEY BRI § IR TEAT TR IR &

Question No. 13 / Question ID 517 Marks: 2.00
You are a trained electrician. If you want to get job in Delhi, what are the key words you use to search in
job portal?

319 TP UIRIfErd SaifaciREa ¢ | afe 3y faeet & el U1 a1gd &, Al Sild Uied § \ioH & fo1e 3 e
TG Teq| T SUTNT Hd 57
(A) O Delhijob
EIC|
(B) O Electrician jobs in Delhi (Correct Alternative) (Chosen Option)

Sﬁﬂiﬁﬁm Sred e fewett (Correct Alternative) (Chosen Option)
(C) O Electrician training
(D) O Electrician job
NIE

A

Question No. 14 / Question ID 382 Marks: 2.00
Complete the sentence with suitable describing words
There is a playground near our house.
JUGd qUHTHD Rsal U a1 TR B |
There is a playground near our house.
(A) O beautiful (Chosen Option)
beautiful (Chosen Option)
(B) O big (Correct Alternative)
big (Correct Alternative)

(C) O good
good

(D) O spacious
spacious

Question No. 15/ Question ID 468 Marks: 2.00
To learn digital marketing in the Skill India Digital Platform, we have to
f&pat sfear fefored Wewd # fEftiea A fe dran & forw gd Sl
(A) O find a physical training center.
o i d ¢ Hex @ierr
(B) O enroll in any course available.
foeit +ft IUCTsY UTush e H SIRIaT ol
(C) O explore the skill courses section. (Correct Alternative) (Chosen Option)
*ra oRf J=E CLCEIl (Correct Alternative) (Chosen Option)

(D) O search for job opportunities.
T & SHTERT BT AT BH=eAT

Question No. 16 / Question ID 419 Marks: 2.00




Which of the following is considered as appropriate workplace behaviour?
frafafed & 9 ford sriwE R Ifud Fa8R T 91T 87
(A) O Talking loudly on the phone
B IR Sl 3MTaTel | §Td DAl
(B) O Interrupting others during meetings
T & SR G &I &g & ApT
(C) O Maintaining a clean workspace (Correct Alternative) (Chosen Option)
D HIAA dATE ¥W T (Correct Alternative) (Chosen Option)

(D) O Being late to work regularly
fafid U § S & § R g

Question No. 17 / Question ID 577 Marks: 2.00
When you do not know how to use a new machine, what will be your action?
S 1Y T3 A=A BT ST HAT 76! Sd dl STUHT 1 BT g2
(A) O Take a break and do it later
ST 9 AHR 3R d1g H 3 AT A1RY
(B) O Stay silent till someone teaches you (Chosen Option)
q d% BIs AUD! a1 761 ¢ 99 dP $S Ta] BT Alg¥ (Chosen Option)
(C) O Leave the job
b BIS &1 AT

(D) O Ask for help and learn how to use the machine (Correct Alternative)

TeTadr A 3R T b 7= 1 IUYRT FA H3A1 AT (Correct Alternative)

Question No. 18 / Question ID 558 Marks: 2.00
Which of the following is self-management skills?
fgfied & § & 91 Jeb-Hroic [&pd 87
(A) O Adaptability and Flexibility (Correct Alternative)
(Correct Alternative)

B) O Lister]ing skill
(C) O Speaking skill
Wifd T fpa

(D) O Writing skill (Chosen Option)
(Chosen Option)

Question No. 19 / Question ID 552 Marks: 2.00
When your team's project is unsuccessful, what will you do as a leader?
S 3BT EH FT UIoide 3% g1 ol 8, < T WIex & =0 § 3T T H1?
(A) O lIgnore the team members
&9 & Yl B U BT 1Y
(B) O Encourage learning from mistakes (Correct Alternative) (Chosen Option)
Tafadl J e & f%‘I'G EﬁT\‘TI'%H AT ile%T{ (Correct Alternative) (Chosen Option)
(C) O Blame the team for the failure
SHAdl & forg < o et sevHT Afgy
(D) O Scold them

3 SleAT ey

Question No. 20 / Question ID 458 Marks: 2.00
Someone loves photography and dreams of starting his own photography business, he has to start with




3l &1 TICHITh! UG § 3R 98 (U1 BICIHTh! Uadd YR h- b Ju-T o8 dl 5, dl 39 g
LT HRAT GIA
(A) O buy the latest photography equipment, even if it is beyond your budget.
BICHITHT IUHRUN BRIGT AT, Yl 81 98 3D Folc § S1eR gl
(B) O start advertising without any planning.
IERINERIKIEBICACRIEE RICCRE ICIITHY

(C) O learn more about photography and join a basic photography course. (Correct Alternative)
(Chosen Option)

BIUTH! & TR § 3R S 3R 3R WIemw! ureasd # 2nfire 8191 91fdu| (Correct

Alternative) (Chosen Option)
(D) O take random pictures and share them online.

=0 U AT SR I8 TR R BT Iy

Question No. 21 / Question ID 595 Marks: 2.00
are at the centre of any business.
foaft oft g & &g A B B
(A) O Customers (Correct Alternative)
PHICHY (Correct Alternative)
(B) O Licence (Chosen Option)
SIESES] (Chosen Option)
(C) O Bankloan

(D) O Working capital
T Hited

Question No. 22 / Question ID 438 Marks: 2.00
Good practice for green mind set is
W H1ES ¥e & for St siam g
(A) O using aircondictioners all the time
TR AT TR B BT SUART AT
(B) O taking lot of printouts
9gd IR flicemae oA
(C) O keep lights on all the times (Chosen Option)
B HY @I3¢ 31H X@HT (Chosen Option)
(D) O Separate and recycle waste (Correct Alternative)

PR B T B 3R IHPT GBI B3 (Correct Alternative)

Question No. 23 / Question ID 484 Marks: 2.00
Which one is a search engine?
T4 S5 HH A §?
(A) O Flicker
IPSER

(B) O Face book
(C) O Google (Correct Alternative) (Chosen Option)

T[T (Correct Alternative) (Chosen Option)
(D) O Hotmail

Question No. 24 / Question ID 594 Marks: 2.00




What are 3 important elements to remember while doing a survey?
T4 B IHT TG W ARG - AUl Tferie & ¥ g7
(A) O Talk, learn, understand
(B) O Observe, record learn
(C) O Listen, observe tell (Chosen Option)
11%{ fRYeor &9, Farg (Chosen Option)
D) O Llsten observe, learn (Correct Alternative)

ﬁ'\ﬁ&'I'UT 3, dhd (Correct Alternative)

Question No. 25 / Question ID 457
How can you become as self-employed?

3119 WIGAR B § Fobd 82

Marks: 2.00

(A) O Try your idea on a small scale, join relevant short term course (Correct Alternative)

374 faaR #1 B TR R <16 W, e e S | T P (Correct Alternative)

(B) O Joining MBA course
MBA S & AT IR

(C) © Work in a company (Chosen Option)
foddt Hu-t H§ B BD (Chosen Option)

(D) O Thinking about to become as self-employed
ISR & & IR H i R




